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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

4. Making any identification mark in the Answer-Book or writing roll number anywhere other than
the specified places will lead to disqualification of the candidate.

5. (a) The Question Paper is in English / Hindi only. However, if you wish, you can answer in

any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or any
such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the question paper, the English version will prevail.

8. Write your Question Paper Code No. 64/S/0, Set on the Answer-Book.
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ENTREPRENEURSHIP
(Iafar)

(249)
Time : 3 Hours | [ Maximum Marks : 100
U7 ;39U ] [ qUTies : 100
Note: (i) This question paper consists of four Parts, viz, Part-I, Part-II, Part-IIl and

(i)

(iii)

(iv)

v)

(i)

(iii)

(iv)

v)

Part-IV containing 30 questions.

Part-I contains 8 Multiple Choice Questions (MCQ). For MCQ, you have to
choose the most appropriate answer from amongst the four choices given (A),
(B), (C) and (D) and write your answer in the Answer-Book. Each question
carries 1 mark.

Part-II contains 8 Short Answer Type Questions. Answer each question in
80 to 100 words. Each question carries 3 marks.

Part-III contains 8 Short Answer Type Questions. Answer each question in
100 to 120 words. Each question carries 4 marks.

Part-IV contains 6 Long Answer Type Questions. Answer each question in
120 to 150 words. Each question carries 6 marks.

39 YH-IF H 30 U &, S AR WA — AET-1, AET-11, WRT-I11 91 9eT-1V o
fofoa &
-1 7 8 Sgfashed wod € | sgfashedla TR & woi % foTu Suctey wm feshedt
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e o fotw 1 316 faff@ 2 |

YOT-11 § 8 TERRIT I & | Tcdeh T T 3L T 80 § 100 F1sgi H AT | Treh
e o foTe 3 3ie ferifca & |

WIT- 111 H 8 ST S & | Teeh Y 1 3T T 100 & 120 w1sgi | G |
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PART —I/90T -1

Answer all questions.
Select the correct answer out of the given options for questions 1 to 8. 1x8=8

¥t T 3 ST R |
19 8 T o foTu feu Tu foehedi # § Tt 3T 1 =9 i
1. Who is the owner of Apple Company ?

(A) Steve Jobs (B) Laxmi Narayan Mittal
(C) Robert Noyce (D) RatanTata
Apple Ul &1 ATt HH & 7
(A) Ta e (B) cAeH TR fire
(C) U« T (D) @A <
2. Social entrepreneurs take a back seat on :
(A) Social problems (B) Profits
(C) Environmental problems (D) Social well-being
TS IEHT $7eh! hH HE ¢d & -
(A) HEIH FHRTE (B) HATHI
(C) TTeReiT Toemd (D) HHIRN GeraTett

3. Identify INCORRECT difference between creativity and innovation.
(A) Creativity is imaginative whereas Innovation is productive.
(B) Creativity involves risk whereas Innovation does not involve any risk.
(C) Creativity is not quantifiable whereas Innovation is quantifiable.

(D) Money consumption is not present in Creativity whereas it is present in
Innovation.

TEHTCHehdT 3T TR o si= 7Teid 3 ] Tg=H |

(A) TEATHRAT HedTRId &, STefeh TITER 3cITEH 3 |

(B) TEATCHehdT T SIIRGH IS 7, Sfeh TR | hig SIIRGH A T2l 2 |
(C) TETCHhdT HTATcH &l &, STeeh! TaT=R AT 2 |

(D) TEATCHHAT § & Sl STTTRIHAT Tal &, Tafeh Jg TR H B |

4.  Identify Geographical Indication from the following :

(A) Monalisa painting (B) IRTC logo
(C) Darjeeling tea (D) Light bulb
FrfeTiea @ Whifetsh Heha <hl T&aM ot :

(A) HTToTET Ui (B) IRTC @M
(©) arfsifert =m (D) e esl
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5. Internal Locus of Control implies
(A) No one can control my destiny.  (B) I can control my destiny.
(C) My parents control my destiny. (D) My friends control my destiny.

oo % Sriaftes woret @ aread B

(A) TR 9T 1 ISt TE T e |
(B) H 319 9T 1 TRIfd s dehel § |
(C) TR Arar-Toam T v i R [ E |
(D) W ere W Wi o b wa E |

6.  Legal aspects of partnership firm are governed by :
(A) The Indian Partnership Act, 2013 (B) The Indian Partnership Act, 1956
(C) The Indian Partnership Act, 1932 (D) The Indian Partnership Act, 1912

TTSICH! BH o I e ol R a2 -
(A) YR aTgierl Afaf=m, 2013 (B)  WRAE greierd stfafrm, 1956
(C) Wi argierl Afafm, 1932 (D)  WRd greierdt srfafem, 1912

7. Attitude defines :
(A) Positive and negative feelings about a place, person, objects, and other things.

(B) Basic beliefs or convictions that make one choose a specific mode of conduct
over other paths.

(C) Good or bad considerations in any society.
(D) State of the individual which disposes him to certain behaviours for seeking goal.

T TRy T 2 -

(A) Toreht T, =afth, aq 3R 371 <fiST < SR § FehRIcHeh 371 ThHIcHeh WIGHTT |

(B) SiarEl foream am g forvemd St forefl i gHY AT § gt HATRW i T fafy
AR T A TEEH e ¢ |

(C) Tortht oft Tt ® 37t o1 90 o |

(D) ST hl STEAT ST W & 1 TATI o I & TGN o ToTT e LA 2 |

8.  ICT stands for
(A) Information and Communication Tool
(B) Information and Communication Technology
(C) Information and Cooperation Technology
(D) Initiative and Communication Tool

JTTEEE 61 qut o
(A) FEAT 3R IR 3T (B) T 3T TR Srenfireht
(C) FIAT 3R &AM Hrefeh! (D) UESA IR AR YT
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PART —I1 /90T - 11
Answer questions 9 to 16 in about 80-100 words each. 3x8=24

9 Y 16 Y1 o I ATHT 80-100 rsal H € |

9.  Innovative entrepreneurs are riskier than Fabian entrepreneurs. Examine the role of
both in the light of given statement.

e Tt e IR St o § i W 8 | 7CU 7T HeF & 3Teish § QM1 6
e <l S e |

10. Differentiate between Entrepreneurship and Intrapreneurship on any two bases.

STftar 3R TR & i fohmdl g TR 9T 37X FdTsT |

11. Explain the role of government in encouraging entrepreneurs.

I o TIHTTEd hid H TR hi fHehT T Y |

12.  How does the government help women entrepreneurs ?

HThR HigaT ITTiEl ohi el Hee hidl g ?

13. Motivation, is an indispensable management function which is practiced by all the
managers. In the light of this statement explain the importance of motivation.

SIS Uk STUTNER Ya9H R 8 S Gt Yeueh! g’ fohal STIa1 @ | ¥ & 3Tl §
SARTITOT <1 A TE SHIfT |

14.  Which of the two — physiological and social needs — is to be satisfied first in the level
of hierarchy ? Explain with the help of Maslow’s need hierarchy theory.

gHT 8 o H e 3R wmTiee STEveshard — YeshY o T W UEe §q8 gFT R 7
HTEAT <l ST Ueishd fagT=t 61 TgrIdal ¥ T8 & |

15. Government organizations with the use of Information Technology made it easier for
the entrepreneurs to start their own business. Explain the role of IT in reference to the
given statement.

AT SRR o ST o A1 TEhRI ST -+ UM % T¢I SaH & HAl
I &1 fean | feu e e % Ty | 31et St viftrent T W |

16.  What is meant by Enterprise as per MSME Act, 2006 ?
MSME 3=, 2006 % 3TTHR 3TH 316G 1 37 FATT |

PART —III / 90T — IIT
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Answer questions 17 to 24 in about 100-120 words each. 4 x8=32
17 & 24 TET 3 ITAL AT 100-120 o) § € |
17.  What do you understand by Innovation ? What is its importance for an organization ?

319 TR 8 1 gHeid & ? Torel S o T e e F 8 ?

18. McClelland’s theory of motivation classifies needs into three categories. Name and
explain these needs.

Heparicie < TR & Ragra = STavashalsti ®i o AR § affed frn 2 1
TR o T AT T 37! e Hifv |

19. Explain the reverse thinking technique of idea generation.

forem fmtor <kt fard 9= denies o1 gHETET |

20. Explain various traditional sources of finance available to an entrepreneur.

Teh ITH1 bl 3uctsdl ford o farfer= urafies |at <hi samen ki |

21. Explain the role of MSME-Development Institutes in entrepreneurship development.

Jerfira foehr o wouHeHs - foehme Teermi shi yftent T8 i |

22. Differentiate between Manufacturing and Service sector.

farfemtor 3T Qe &5 & <= 37 saTET |

23.  What do you understand by incubators ? Explain the various considerations to weigh
when choosing an incubator.

3T STREC | T THIAA § 7 SIS 1 T hid T bl ST bl I H TG
ey 7 FHSATSC |

24.  What are the legal formalities an entrepreneur is expected to comply with to obtain
registration of the organization ?

TATSH <hT TSTIehLUT STH i oh foTT Teh Jereft sh1 i &t St STH=iehard g it ardt 8 7
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PART - IV /91T -1V

Answers questions 25-30 in about 120-150 words each. 6x6=36
259 30 T % I AT 120-150 TG H ¢ |

25. Entrepreneurs contribute to the nations growth by creating employment opportunities
for different sections of society. Explain the role of entrepreneurs in the light of given
statement.

Seft TmTst o fafi= ot o T TR o STaer et e TP o fashid T AT &Ld ¢ |
few T e % el O e 6 yften w7 Hifv |

26. Explain the benefits to business organization from innovation and value addition.

TR 3R YeIaed & SATTEh EiTe i - aTel el shl SATET i |

27. SWOT Analysis is a tool of self-analysis. Explain the given statement with a suitable
example citing at least two of each element of SWOT.

Wie foveryor T - fIeeTyur 1 Teh IUH 7 | Tie & Y a7 o HH 8 T ¢l HI garell
2 U Ueh SUTh ICTEL0 o A1y FeU U ey ohi et i |

28. “Private Equity is an alternative investment class and consist of capital that is not
listed on a public exchange market.” Evaluate Private Equity as a source of finance in
the light of given statement.

“froft sfaerdt uep Stepfotss feiw ol @ 3R s St wfiet 8 STt wresties fofme arem o
Tefterg T B 1 fou e e % 3ot # fod & wia & w0 # fsft sfaadt 1 goaieh & |

29. The Stand-Up Indian Scheme is based on recognition of the challenges faced by
SC/ST and women entrepreneurs in setting up enterprise. Explain the role of Stand-
Up Scheme in the light of given statement.

-39 AR JIoHT 3T TG i § UEH! /uEd 3T Afgen Uit gry amen i
S 9Tt AT <hl A=A W ST4Td 8 | fqu 7T em & 31retieh 8 ¥g-319 A1 i

fHeRT TIE i |

30. Partnership comes into existence by means of an agreement between two or more
persons. Explain the features of partnership form of an organization in the light of
given statement.

Trerer & a1 3tfuek saferRal o i Teh GHeid o o1 § AfGie § 371 ? | feu 1w wem
o 3TTeATeh T H3A o HT3IEH! &Y i foiydTd st |
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